EARAROBEEIERT — 2 N— IBISH —F

201756H 158 (k) 5EIFIRISH

Ol 2 B ARBEF] TR 25 ESRE R
[x&£] 1 %:300,000 3  23#%:60,000™ ~ 33#%&:45000M  43%&:30,000H ~ 53#&:15,00 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
V=% #o2 | BRE- 1:(1_6).8 43 |85 — | 2 | 42 %g;éﬁ (i)
R:7UF—v B:F7~rqO> (48) B s
IAIAEY—X o2 | LAEEE 1(:11/62.)9 77 |882| — | 1 | 438 ﬁﬁ%ﬁ (It
R:IAYFE2T1 BI—-YCFyF— (-4) ST
{yFay o2 Sﬁ%@% 1:(137).6 2-3 39.5| — 4 z:gg; Eé*lgg (Aeimd)
L:a—-Lvisr4o B:7EVT1 v WA #=
— 2N : = — AlFH (GteE)
LI Z%— it 2 | BH 1.(128).0 2-1 39.9 3 gze) L 7“5‘/?%%
R:ZRw— hE—1 BEY—ZXTU—h HiE &
. AR BTz SE : - - Ft (bigw)
SRRECEL =D R i B A el S ) me
R:xg—Yrsa-x B:HI—H-K 245
So 5 Ry L] 18. = 5| — NNE#EA (i)
6155 X—ﬁ/’777< % 2 54.0,it : 1(118)4 - 05 ! (4_7‘3 SEEE =
R:G52To8— B:T74-W¥T7> =iE R
NN 14 AREBR : - - NEET (diEiE)
7 o | A—ATNIL #2 | B (zil.;s) 45 | 43.3 6 (ﬁi) e G
R:7vio—L B:UN—=-%i Bk B—
® I —F—EBIERL
|2=3F=
20—F—
Jol=5r= 5,(3,7),(2,4),1,6
40 —F— (3,5),(4,7),(1,2),6
[ N3
H OB 4 220/ 714K 4-6 130H B = 4-6 140M 3EHE 4-6-7 370/
8 B 4 110M 4-7 230 B H 4-6 350/ K31 4-6-7 1,030
6 100M 6-7 180M

ABICOVWTRDTEEERROODE. TR LIV,




